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M #HLH
Sl BAN B2 (B2l &)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
QM 7,900, 130 7,634,681 265,449
=2 278,068 270,600 7,468
2 300,000 300,000 0
Jl 27,000 27,000 0
[ 217,367 252,440 A35,073
2 7,077,695 6,784,641 293,054
BASH 290,586 294,066 A 3,480
2 77,400 77,400 0
< 37,240 37,240 0
2 175,946 179,426 A 3,480
EHAAIE e 290,586 294,066 A 3,480
2 77,400 77,400 0
[=4 37,240 37,240 0
2 175,946 179,426 A 3,480
SAANM 29 48,386 51,466 A 3,080
201 LBt 27,652 30,136 A2 ,484
01 AF2 22| H 17,582 19,536 21,954
Ot 2 13,892 15,436 A1,544
—HSZEA RQEAEN 2 810,000 810 900 A90
SACEE AQE Do 3,303,000 3,303 3,670 N 367
—SFNWARLZ DXA Q]
4,320,0009! 4,320 4,800 A 480
—SFYPEX FAMARE 7Y
2,340,0002! 2,340 2,600 A 260
—PHEXD| EZFH ¢ 315,000 315 350 A35
—BACH BEEE BE2YQH  540,0002 540 600 AB0
- BAQAST Y SATH YALSE
1,800,000 1,800 2,000 A200
— SN EE S US0H =2
464,000 464 516 AB2
oIl =] 540 600 A 60
— BRI 540,000 540 600 AB0
o=l 3,150,000 3,150 3,500 A 350
02 2229 10,070 10,600 A530
O222 2 MA 9,120 9,600 A 480
—ESHNEEYE S DN L5282
7,980,000%! 7,980 8,400 A420
— ROIAFIZTH) HILI L SMe=
1,140,000 1,140 1,200 AB0
OXSEEH (ARD XH222]) 950,0002! 950 1,000 A50
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01 THE bl 3,800 4,000 2200
OV +HAA 2] 3,800 4,000 £200
— PE(4L) 1,425,000%! 1,425 1,500 AT5
- K218 0L) 950, 0002 950 1,000 A50
— a4+ 0L 1,425,002 1,425 1,500 ATS
o oy ¥ e 228,600 229,000 A400
2 77,400 77,400 0
= 30,440 30,440 0
2 120,760 21,160 A400
201 22 bl 4,600 5,000 £400
2 200 200 0
= 200 200 0
2 4,200 4,600 £400
01 A2 22l 4,600 5,000 400
Oy 3| 1,800 2,000 A200
—- B2 oY 2R AT MH
1,800,000% 1,800 2,000 A200
ORolers TFI| AHTIW Ay
1,800,0002! 1,800 2,000 £200
CHol & 2 0H & 89,550 90,000 A450
2 27,000 22,000 5,000
o] 27,000 27,000 0
= 7,500 6,500 1,000
2 28,050 34,500 6,450
SEEE R 58,650 59,000 A350
2 27,000 22,000 5,000
= 6,000 5,000 1,000
= 25,650 32,000 76,350
JIBEE NS L RVAE NBMY 58,650 59,000 A350
2 27,000 22,000 5,000
= 6,000 5,000 1,000
2 25,650 32,000 6,350
201 LBt 2 bl 2,300 2,600 A300
2 4,800 4,800 0
2 7,500 7,800 A300
01 AR 22l 9,300 9,600 300
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J| 27,000 27,000 0
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— HJI 900,000 900 1,000 A 100
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O= &l 1,350,000& 1,350 1,500 A 150
Oogxz 10,800 12,000 A1,200
—UHEHIIZ=S MRS 5,400,000& 5,400 6,000 A 600
— =9 ZXNHIE Ml 5,400,000 5,400 6,000 A 600
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OMJIHEE HIIZA 242 12,808,002 12,808 14,231 A1,423
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ozl 1,323,0002 1,323 1,470 A147
02 23S 112,860 118,800 £5,940
OZZRILHA 112,860 118,800 A5,940
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95,760,000 95,760 100,800 A5,040
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—OfMSZ2 2H L 0SEE 7Y
900, 0002 900 1,000 A100
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301 YA 7,800 8,000 A200
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sEuw el 3,036,365 2,992,517 43,848
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IEsZA N2 166,869 169,941 A3,072
201 YEr2 | 34,905 37,761 ~2,856
01 AL 22l 17,429 19,365 ~1,936
Ot 15,539 7,265 ~1,726
—TEHIA O ABHE U B2
1,512,0008 1,512 1,680 £ 168
—SNA HE2S 222 MF 720,009 720 800 A80
—~ T AMSE L FLASERY
9,923, 0002 9,923 1,025 A1,102
— WU FMEE XY 1,764,008 1,764 1,960 A 196
~ 5018 834 FAMSE X8
1,620,0002 1,620 1,800 A180
o2zl 1,890,0002 1,890 2,100 A210
02 232l 17,476 8,396 A920
OZaFa M2 11,491,0002! 1,491 12,096 A605
OB Yo5t4+523 5,985, 0002 5,985 6,300 A315
202 01t 6,264 6,480 ~216
01 =LHoi bl 6,264 6,480 ~216
DESZA DUFY YLEE 6,264,002 6,264 6,480 ~216
AozseaAL B 29,480 30,644 A1, 164
201 Yer2 | 18,340 19,444 A1,104
01 Ak 22l bl 2,380 2,644 264
O+ gt 2,380 2,644 264
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1,332,0002 1,332 1,480 A 148
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02 23Sl 15,960 16,800 £840
OXQUAMEIAIL ®IIQRS 15,960,000 15,960 16,800 £840
206 T 2 bl 1,140 1,200 A0
B ETT 1,140 1,200 A60
OXUBES4H2IAE AB2Y  1,140,0008 1,140 1,200 A60
LA B2 2,589,220 2,612,924 723,704
201 Yer2 | 433,395 456,883 £.23,488
01 AbR 22l 1,505 12,883 A1,288
O+ gl 9,498 10,553 A1,085
—2LHEAE 22 K002 HE 90,000 900 1,000 A100
—JlERL $eH P2 MA  2,430,0008 2,430 2,700 A270
—JIEASEI 45K AB2X 222 2
4o M 900, 000%! 900 1,000 A100
—OtEE £WAM 242 900, 0002 900 1,000 A100
—2HRINE FAFY SBAMN 242
1,260,000 1,260 1,400 A140
—2H2NE AES MPZA 242
3,108,0002 3,108 3,453 ~345
OBFINEAE Xots 2BAMN 222
1,530,0002 1,530 1,700 AT0
ozl 567,000 567 630 A63
02 2Bl 421,800 444,000 £22,200
OzZZIYHA 421,800 444,000 A22,200
—2LHAUF HII23 68,400, 0002 68,400 72,000 3,600
—JtE2L ZIHANE HIIR3
353,400,0002 353,400 372,000 £18,600
202 01t 4,968 5,184 ~216
01 =L 01 bl 4,968 5,184 ~216
O+HeINE 22l 4RF7 4,968,000 4,968 5,184 ~216
STOX HASTHAZ AL 24 180,000 110,000 70,000
401 NEHIL 2T 180,000 110,000 70,000
01 A&yl 178,380 108,956 69,424
OH+ZLHAZ NS W24 % S
99, 100, 0002 99,100 29,676 69,424
03 A& 2 0HHl 1,620 1,044 576
OH4ZLHAZ CSAE HEs % S
100,000,000 %0.9/100 900 324 576
egzy e 70,796 69,008 1,788
201 YEr2 | 2,383 2,508 A125
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EEETT 68,413 66,500 1,913
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52,250,0008 52,250 49,500 2,750
OWE M2AAS BLEHY 8% 16,163,000 16,163 7,000 ~837
ME 24 B 64,661 63, 144 1,517
2 2,468 0 2,468
= 1,727 0 1,727
2 60,466 63, 144 £2,678
Aot E B2 64,661 63, 144 1,517
2 2,468 0 2,468
= 1,727 0 1,727
2 60,466 63, 144 A2,678
MEoIFBE JYEY 34,238 37,140 £2,902
201 2Bt | 23,820 26,360 A2,540
01 At 22l H] 21,996 24,440 ~2,484
Oger+ gt 8,720 20,800 £2,080
— MR A S MA HH 1,440,000 1,440 1,600 A160
ASS 0y 222 S M 2,700,008 2,700 3,000 A300
—DYSAN EXNE M 1,620, 0002 1,620 1,800 A180
~ 042 5F) 223 Y 1,620,000 1,620 1,800 A180
~HSAT M2l SEE HE 900,000 900 1,000 A100
—ASS oY AMSE Y 2,700,000 2,700 3,000 A300
— YR ELANEY E2S ME 2,430,000 2,430 2,700 A270
— 0210 AME OFBR ERE N
1,620, 0002 1,620 1,800 A180
~HAADE DY 1,980, 0002 1,980 2,200 £220
—80l ¥4 FHES Hs ¢ 22= X
1,710,000%! 1,710 1,900 A190
OEET 3,276,0002 3.276 3,640 364
02 2B 1,824 1,920 ~96
OB 3= 1,824,0002! 1,824 1,920 ~96
206 T & 4,104 4,320 ~216
01 M2 bl 4,104 4,320 ~216
OCHAHIAE |44t 4,104,000% 4,104 4,320 ~216
301 2Bt Az 1,314 1,460 A 146
10 BAFAIEI 24 3 1,314 1,460 A 146
080l 4 HEDS AKX BAS 504,000 504 560 A56
080l ¥4 HEDS ALY 810,000% 810 900 A90
MEDRYA NG Y e 20,207 20,524 A317
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2 1,727 0 1,727
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2 1,727 0 1,727
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HHLSIAY (BB M) 24,081 26,290 £2,209
o=l 24,081 26,290 £2,209
o= 2l 24,081 26,290 £2,209
201 YEr2 | 9,621 0,690 A1,069
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